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Pemurs npocreiimue TpHroHOMeTpHUECKHE ypaBHEHAN (3522—

3565):
3522 sin3x=0. 3523.
3525 ctg7x=0. 3526.
3528 tgg =0, 3529,
3531. cos2x=-1, 3532
3534. sinx = % 3535.
3537. sinx = g 3538.
3540. sin2x = —;— 3541.
3543. ctg8x=+3. 3544.
3546. sin(2x - g) =0.
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3552. tg(§+34—n)=x/_3-. 3553. ctg[4x—g]=_J§
3554. siﬁ(x—%):%. 3555, cos(2x—§).=g..
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Pemnurs rpuronomerpuueckue ypasmenus BMAa sinf(x)=a,
cosf(x)=a, tgf(x)=a, ctgf(x)=a (3566-3583):

3566. sin(x2)= 0. 3567. sin(x3)= -1. 3568. cos(x2)= 1.

3569 cos(x2)=§. 3570. sinVx =-1. 3571 cosvz—1=0.

3572. cos(sinx) = %—3— 3573. tg(sinx)=-1. 3574, sin(tgx) = -1,
3575. cos(tgx) = 0. 3576, cos(cosx)=1. 3577, ctg(meosx) = /3.
3578. sin(sinx) = 1. 3579. cos(sinx) = 0. 3580. tgyx = 1.

3581. sinVi6- ' =0. 3582. cos(x +[x])=1. 3583, sinfx ~|+)= 0.
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